Multiplying by Negative Powers of Ten (B)

292,000 x 1 = 236 x 1 =
2,920,000 x 0.1 = 2,360 x 0.1 =
29,200,000 x 0.01 = 23,600 x 0.01 =
292,000,000 x 0.001 = 236,000 x 0.001 =

65,600 x 1 = 940,000 x 1 =
656,000 x 0.1 = 9,400,000 x 0.1 =
6,560,000 x 0.01 = 94,000,000 x 0.01 =
65,600,000 x 0.001 = 940,000,000 x 0.001 =
877,000 x 1 = 939 x 1 =
8,770,000 x 0.1 = 9,390 x 0.1 =
87,700,000 x 0.01 = 93,900 x 0.01 =
877,000,000 x 0.001 = 939,000 x 0.001 =
9,490 x 1 = 43,400 x 1 =
94,900 x 0.1 = 434,000 x 0.1 =
949,000 x 0.01 = 4,340,000 x 0.01 =
9,490,000 x 0.001 = 43,400,000 x 0.001 =
1,100 x 1 = 955 x 1 =
11,000 x 0.1 = 9,550 x 0.1 =
110,000 x 0.01 = 95,500 x 0.01 =
1,100,000 x 0.001 = 955,000 x 0.001 =
496,000 x 1 = 845,000 x 1 =
4,960,000 x 0.1 = 8,450,000 x 0.1 =
49,600,000 x 0.01 = 84,500,000 x 0.01 =
496,000,000 x 0.001 = 845,000,000 x 0.001 =
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